 STATISTICS

" Paper : STA0300104

(.Surv,ey Sampling and Design .of
. . Experiments-1) -

Full Marks : 45
Time : 2 hours

The figures in the margin indicate .
full marks for the questions.

Answer either in English or in Assamese.

. Answer the following as directed : . 1x5=5
Roie 1aed oom erpe Oed faal
(@) If all fhe units of a -populaﬁbn are

surveyed, it is called
(Fill in the blank)

ﬁﬁaﬁwﬁﬁwﬁmmnﬁaﬁﬁ@f@,
o Q@
| (AT 32 97 F)

Contd.



(b) When the population -is , wWe

()

(@)

o e

_use, % stratified sample.
i (Choose the correct optzon)

e

eifrd e | (@5@@?@3@@@@%)
(i) . too small  (ITS 7F)

'(ii)l very'la,rge (I @@Qj

(iii) hotnogeneoﬁs (TAET)

(iv) hetcrbgenéouS' | (W)

When sample size increases, sampling -

errors also increase.
(State True or False)

(&% @ 9w )

is

A test that is based on
prov1ded by analysis of variance.
(Choose the correct option)

oot Rosed <ot 3 @oRe SIS

(i probability Ratio
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(e GECH! AR GE1Sd) |

. (@ii) variance ratio
PR SIS

(iii) random: sample 5

e eifered

(iv) expenmental unit

AT T

(¢) The error d.f. in an RBD with'4 blocks

comparing 6 treatments is
' (Fill in the blank) s

4?%631@9{1513@?1?“361%!%"{5@%

SfoTEi zsl%‘ oI NA LA
(Tt 512 qv )
2. Answer ‘any five questions .from the o
follow1ng ) . 2x5=1 ) A
(@) Point out the drawbacks of complete
enumeratlon v
sy I SRR S

(b) Distinguish between observational
studies and sample surveys.’

SR S O e AR e
s feral)
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(0

@

(e

(9)

(h)

" Define non—probability sampling.

_'.w@ﬁrﬁaﬁsmaﬁ\w )

Under ‘what 81tuat10n will you. prefer

RBD over CRD?

’ m«%ﬂﬁfi@vmﬁmw

W%WWW&@WW@9

What is 'systematm samphng?

AT AfosE e

Write down the -uses of analysis . of '

variance.

wﬁﬁmﬂsﬁwml

What are 'the disadvantages of stratified
random sampling? -

Define proportional allocation in

-stratified random samphng w1th'

example.

W‘P‘li igeel o4l |

What do you mean by treatment and

expérimental error in design of

experiment ?

1(Sem-3)STA/G 4

Wmmﬂﬁﬁm

f .(a)

“(b)

©

WW@@WWW@%W
o e '

() Explain the concept of s1mple random
’ sampling.
e wﬁw aﬁm Wmt ?um awn
\ Answer any four questlons from the
‘following : T Sx4=20
woTe At eI R BIfAb1T Be forat ¢
Discuss the bas1c principles of sample

survey.

WW@%@WWWI

What is systematic samphng ? Mention
few advantgages of systematic samphng

- over s1mple random sampling,

3+2=5

WWWWWMW
TIES 5T Rga FRe Beet <t |

'A population of size 720 was divided

into 3 strata whose sizes were 360, 240
and 120 respectively. A sample of size

60 is taken from this population using

proportional allocation. Find the sizes
of the samples selected from each
stratum. '

1 (Sem-3) STA/G S . Contd.



&8t 720 SFR e ORE %1 v 360,
540 SIF 120 TR O 3 T | R THROR
o FTREATES e IR R ot 60 SRS
offore{ coTia Tt | 2Tt B SRt G e
ez R 1t R

‘S~how that in simple random samplirié
sample mean is an unbiased estimate
of the population mean. , «
ol 91 (3 e A foee e o TGt
AR MG B! TS AFTT |

(d) .

() W
- assumptions made in it? :
mﬁﬁrﬂwmfﬁ?imam@@@—,w
wfourarz & &
() Write a note on basic pr’iriciples of
design of experiment.
Sl SIS TSRS Raw @l
(ol fort |

What is completely randorrﬁsed design

(9

(CRD) ? Write down the hypothesis .

tested and AOV table in CRD.

wﬁw@@ﬁw%?mﬁmﬁw%
oe Gioe eRwiol ol oI ePid [RCES]
Sifee 4ge 4|
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What is meant by AOV ? What are the

-

. (h Sl 10W l h i i .
Wltl' 1 Iep acement the

S.E.(x)=-Z

:;,\&‘j\‘.\(/..j AW""WL‘;@"W ’ﬁ:m‘ffﬁ@ SIS — efsTief
\ © B

P effw o I DT T BB 2

/ SE.(¥)=-%

\/; .

.4.-’ Answer any one quesfion from the
following : - ' - 10

oo il Rl «bt e Tew ot 8
(a) Explain the principal steps involved in

the planning and execution of a sample
survey. ‘

a5t e AR SREE AT RIS
Sole GYS T4 ATCHPTR I FA
What are ~sampiing and non-sampling
errors ? Discuss briefly.

ofopT oI weiforeR @her 6 fe ol
o .

(b)
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(c) - ADcscri'bé the "_pll'o.cevdure of stratified.
random sampling. Obtain the variance
of the estimate of the population mean.

3+7=10
WWWW?@WIW '
TGS ST & el 3w | | |
: (d) (i) What is randomlsed block des1gn ?
. State its advantages : 5‘
A Yo AfSwsm [Fe T GRapwE
ek T
‘(i) -Fill in the blanks of the followmg
' table : - S
o TWWWW’B‘TW 3
Source  d.f- Sum of Squares Mean Square F
b og v warE g P
A 6 - _ - -
B 10 - . 1095 -
Brror - — 10160 e
\'{FE . P ; : |
Tl 60 g .
. - S S
3125' _ : s'?_ P
_ - :(t/ \\
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